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Tuesday 2 November 2010 - Maming Paper Neforence

Time: | hour 15 minutes 5MB1 Hfﬂ‘l

q .

_'.'... You must have: Total Marks
28 Ruler graduated in centimetres and millimetnes, protractor, compa sses,
A pen, HE pencil, eras u_r calculator. Tracing I..JFJHI may ba umd

B

Instructions

+  Use black ink or ball-point pen.

+ Fill in the boxes at the top of this page with your name, centre number and candidate
number,

+  Answer all quastions.

+  Answer the gquestions in the spaces provided
— thera may be mare space than you need,

= Calculators may be used.

« [|f your calculatar does not have a m button. take the value of mto be 3.142 unless the
guestion instructs otherwise,

Infarmation

« The total mark for this paper is 80

* The marks for each question are shown in brackets
— use this as a guide as ta how much time to spend on each guastion.

» Questions labelled with an asterisk {*} are ones where the quality of your written
communication will be assessed
— you shouwld fake paricolar care with your speiing, puncluation and grammar, as well as fhe
clanty of expression. on these guesiions,

Advice

» Read each question carefully before you start to answer it.
« Keap an eye on the time.

« Try to answer every guastion.

+ Check your answers if you have time at the end.
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Answer ALL questions.
Wrile vour answers in the spaces provided.,
¥ ou must write down all stages in vonr working.

Laury has & [our-sided spinner.
The spinner is biased.

The table shows zach ol the probahilities that the spinner will land on 1 ar land on 3
The probability that the spinner will land on 2 35 cqual to the probabiline that it will land on 4

Mumhber l | 2 1 4 |
‘I’:’nhalﬂlit}' N.25 | =2e (.35 o |

Laura 15 going to spin the spinner cnee.

(#)  Work out the probabilicy that the spinner will not land on |

| « 228 =075

_____________________ o-75 .
ik} Work out the probability that the spinner will lund on 2
Lok P(2) = P(#) = 3
Q25+ 2+ 02T +2 = |
Do § 96 =1 o A
Lk = o4
WIS (Total for Question 1 is 4 marks)
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*2,  Mrand Mrs Jones are planning a holiday o the Majestic Hotel in the Cape Verde Lslands,

The table zives information abour the prices of holidays o the Majearic Horel,

MAJESTIC HOTEL, Cape Verde Islands
Deptirires . i I'rice per adult ;
. T mights 14 nights
1 Jan - # Jan ' £6494 £425
9Jan—28 Jan £679 LAO4
29 Jan - 5 Feb EOET EH13
6 Feh — |8 Teb ~ £769 R3S
/MD iR 817
0 %ar — 31 Mar Lol LB
/ lApr—9Apr FTRE £867
(10 Apr — 30 Apr £748 <)
I'rice per child: 95% dfadult price tor 7 nights or 85% of adult price tor 14 nights.

1

|
M and Mus Jones are thinking about zoing on holiday

on 20 February Tor 7 mights

or on 10 April for 14 nights.
M and Mrs Jones have 2 children.

Compars the costs of these two holidays forshe Jones family,

20% Bly rreg ey dov 7wyl T (0% apil & (9 uwiylh
2acledli, 2w 1 =£1428 | Lol lfs, 2x 8o2=

; 6ot
2 il QST - bl 2 e (BEL. o thn
'LLMF.;H): 14 28 0-98 S E}Fﬂ

= 1856-6 w— el o T e =L 3690

Tofel (928 + ‘553"5 Tohl ICete 1363 .90
—{2734 -6 BT

The secodd {slan € (0 Apildhr (¢ uig ()
8 29€2.4 - 27876 = £127. R asre expesie.

{Total lor Question 2 is & marks)




Cuzma wants 1o find out the method of ransport peaple use oomavel o a shopping cenrre.
Lrezien a suitable dato eollection sheel she could use 1o callect this information,
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( Uotal Tor Question 3 is 3 marks)
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Foe reconded the heart rates, in beats per minute, of cach of 13 people.
Ao then asked the 15 people fo walk up some stairs,
She recorded their heart rates again,

She showeed her results inoa back-te-back stem and leaf diggram,
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Compare the heart rates ol the people belone they walked up the stairs with their heart rates afler
thev walked up the stairs.
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{ Total for Question 4 is 6 marks)
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*3. Margarel is in Switzrerland.
he local supermarket sells boxes of Reblochon cheese.

.-":-.. s.ﬁ_‘
Loswss "mn:a_f,-:
I'H.. ]6[’!5 _.-""I

Each box of Reblochon cheese costs 3,10 Swiss lrancs,
It weighs 160 g,

In England, a box of Reblochan cheese costs £13.55 per ke,
The exchange rale is £1 = 1.63 Swiss ranes,

Work out whether Reblochon cheese is hetter value Tor money in Switzerland or in England.

3.lo SFr = 3-(oS/Hvw  El - s

{-65 SFr
Poce por 43:1,. SescFenan 0 = ‘é‘f'ﬁhﬁ B
m-f-é’.é'é

(ba bebier onkee i Swilperlond (E(176/4y)
i Eey loreat (€1355/ley )

( Lotal for Question 5 ix 4 marks)
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f5. |20 ¢hildren went on a school activities day.
Some children went bowlina.
Some children went to the cinema.
The rest of the children went skating.

06 of these children were girls.
28 of the 66 airls wont bowling,
36 ¢hildren went to the cinema.
20 ol the children whe went to the cinema were girls.

15 boys went skating.

Work out the number of children who went Iawling.

'F_l:;i_;‘ Lalf o ﬁﬁ.‘{;.c "'Lu_--.rn{rﬁ-d e o . - e &L{.qi
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{Tartal Foor Ornestion & is 4 marks)




A compuny sends every ilem of mail by sccond class post.
Fach item of ml 15 cither a letter or a packer,

The tubles show information about the cost of sending & letter by second class post and the cost
ol sending a packel by second class post,

Letter = Packet
__‘!r\"l}liﬂ‘ilmnge Second Class | Weight range Second Class
=100 g 32p O— 100 g ELLT
11 =230 2 i
251 -500 g £1.95
S —730 g £2.36
7SN g 28

[he company aent 420 items by secand class post.

The ratio of the number of letters aent o the number of packets sent was 5@ 2

of the packets sent were in the weight range 0 = 1HH) ¢

s d

The esther packels senl were in the weight range 101 - 250 g,

Work oul the sl cost of sending the 420 items by seeond class post,
e berx : Pui:t,ér = £:72 ] ?Fuf—g

- . Bubo TR0 &ﬁ‘mi 2 bho =1l pm_.éef‘rz

%4—&&-:&2?&*[1@: Eﬁt-":—{uqi e:;-—h‘-_:e::md_
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Loblet: TBomw BRI = £QL
O-100g padels 1 30 x £1.(7 = £ 926

!a[—EQEJJ Fazfg.:k cGow Fist = €60 do
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( T'otal for Question 7 is 5 marks)




8. Waler flows out of a cylindrical 1ank at a constant rate.
The graph shows how the depth of water in the tank varies with lime,
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Ly Wrile dovwn a practical interpretation of the value vou worked out in part (a).
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